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Fﬂ 4 | -0.3 0.7 0.2 35 -3.6 -1.1 -L1 -0.7 0.8 -l.4 0.7 0.3
o 5 0.3 1.3 0.2 35 -45 ~1.6 -0.9 0.1 0.8 -0.68 0.5 -0.1
8 0.3 1.1 0.0 3.6 -4.4 -1.4 0.9 -04 0.8 0.2 04 0.9
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8 102.6  99.0 102.4 100.4  97.9 101.3  100.9 100.6  100.4
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i 16 0.4 0.7 1.7 0.5  -1.0 0.6 -0.7 0.4 0.9 0.4
¥ 17 0.8 -1.7 0.0 0.6 -3.6 -2.2 0.8 0.4 2.0 0.7
e 18 0.3 0.9 -0.8 2.4 0.8 .7 0.0 0.8 0.6 0.1
W ORKI84E 1] -0.3 2.5  -0.1 1.2 4.2  -4.5 -0.3 0.0 5 0.1 -1
)i 2 -0.4 -1.3 0.0 0.3 0.5 -2.1 1 =02 0.0 00 =01 0.1
3 0.3 0.4 -0.6 0.0 0.2 4.4 L 0.5 0.0 0.7 0.4
4 -0,1 -0.6 0.0 -1.1 -1.6 3.8 8 -0.3 0.8 S 0.2 0.1
£ 5 0.4 0.1 0.0 0.1 53 -0.2. 2 0.5 0.0 9 -0.4 0.2
L 6 0.0 0.8 0.1 0.0 -2.7 0.1 2 =0.2 0.0 1 0.8 -0.1
s 7 0.4 -1.4  ~0.1 0.1 -1.2  -2.2 .1 0.8 0.0 B304 -0.1
8 0.8 2.8 -0.5 0.3 -0.2 -1.4 1 1.2 0.0 8 0.2 0.1
9 -0.6 -1.7 0.6 0.2 0.9 0.5 0.0 -0.6 0.3 3 0.4 -0.3
% 10 0.0 0.7 -0.8 0.2 -0.9 2.4 1.1 0.3 0.0 5 0.8 0.1
1 -0.5 -1.8 0.0 -0.4 1.0 0.7 -0.5 -0.5 0.0 3 -0.3  -0.1
12 -0.1 0.4 -0.2 0.0 -3.0 -0.7 0.7 -0.2 0.0 2 0.3 0.0
| SE k184 18 0.0 0.6 0.0 35 -6.8 -3.5 7.0 0.3 0.4 8 0.3 -0.2
B 2 0.1 -0.6 0.0 3.9 -25 -2.3 6.8 0.3 0.4 5 0.4 0.2
& 3 0.3 -0.3 -0.3 3.9 -1.8 0.1 7.0 0.4 0.4 3 0.9 0.5
& 4 -0.2 -0.8 -0.8 2.1 -27 1.0 50 0.4 0.8 1 1.4 0.2
H 5 0.3 -1.2  -0.4 2.2 48 01 61 -0.2 0.8 3 1.7 0.8
f 8 0.9 2.0 -0.4 2.2 15 0.0 7.0 -0.3 0.8 0.2 0.0 0.4
7 0.6 1.0 -0.4 2.4 32 1.0 7.3 -0.5 0.8 -05 0.2 0.5
- 8 1.4 41 -1.0 2.4 3.3 1.9 7.0 0.4 0.8 -0.7 0.6 0.6
2 9 0.8 1.7 -0.9 2.5 3.7 1.4 7.4 -0.1 1.t -0.5 0.3 0.2
10 ¢.4 2.2 -1.6 1.9 2.9 -48 87 -0.3 1.1 -1.3 1.5 0.1
% 11 0.1 0.7 -1.8 1.4 48 -84 65 05 1.1 0.7 0.0 -0.2
12 -0:9 1.1 -2.2 0.9 2.0 0.3 -13.2 -0.1 1.1 -1.5  -0.3  -1.1
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5 100.9 102.0 100.3 102.0  97.7 104.2 101.7 100.1 100.6  99.7 100.0 100.4
6 100.4 100.8 100.3 102.1  97.1 102.9 101.2 99.8 100.6 99.8  99.4 100.1
7 100.5 100.7 100.3 102.1  97.5 100.6 101.2 100.2 100.6 100.1 100.6 100.2
8 101.4 103.6 100.2 102,3 100.1 88.0 101.3 101.5 100.6 100.8 100.5 100.5
¥ g 01,2 102.7 100.2 102.3 101.0 102.5 101.2 100.8 100.6 99.6 100.8 100.7
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3 0.5 0.8 0.1 0.0 0.3 2.1  -0.1 0.5 0.1 0.8 0.0 0.4
4 -0.3 -0.8 0.0 -1.3 0.2 1.6 0.3 -0.8 0.5 0.4 0.1 0.1
L 5 0.8 0.9 0.0 0.1 -0.4 2.2 0.5 0.9 0.0 0.8 0.1 0.3
L 8 -0,5 -1.2 0.0 0.1 0.6 -1.2 -0.5 0.3 0.0 0.1 -0.8 -0.3
s 7 0.1  -0.1 0.0 0.0 0.4 -2.2 0.0 0.4 0.0 0.3 1.2 0.1
8 0.9 2.9 -0.1 0.2 2.7 -1.8 0.1 1.3 0.0 0.7 0.1 0.3
9 -0.2  -0.9 0.0 0.0 0.9 3.5 -0.1 -0.7 0.0 -1.2 0.3 0.2
% 10 -0.8 -0.8 0.0 0.4 -1.1 1.4 1.1 -0.8 0.0 -1.3 0.1 -0.2
11 -0.6 -1.0 -0.7 -0.1 0.1 0.2 -0.7 -0.8 0.0 -0.3 0.0 -0.3
12 0.2 0.8 0.0 0.0 -1.2 -0.8 0.8 0.1 0.0 0.3 0.0 0.0
#| e pkissE 18 1.1 0.5 3.6 3.3  -1.0 4.2 3.4 0.2 0.1 -2.2  -0.3 1.0
i 2 1.0 -0.2 3.6 3.8  -3.3 4.9 3.4 0.3 0.1 -1.7  -0.3 1.0
& 3 0.4 0.7 -0.8 3.8 -2.9 3.3 3.0 0.3 0.2 -1.4  -0,2 0.2
A 4 -0.1 0.3 -0.7 2.3 -2.0 2.3 2.4 -i.1 0.6 -1.2  -0.3 -0.1
B 5 0.5 1.6 -0.7 2.4  -2.5 2.2 3.2 -0.8 0.6 0.7 0.1 0.1
b 8 0.5 1.5 =0.4 2.5 -2.5. 1.5 3.0 0.1 0.6 -0.1 -0.5 0.0
7 0.5 1.0 =0.4 2.7 2.2 1.6 3.9 0.0 0.6 -0.8 0.4 0.1
7 8 1.3 4.0 -0.1 2.1 0.4 1.0 3.1 0.5 0.6 -0.8 0.2 0.2
% o 1.0 81 =01 20 03 0.3 30 01 0.6 -0.7 0.8 0.4
10 0.9 2.6 -0.1 1.8 0.4 1.0 4.6 0.5 6.6 -1.3 1.0 0.3
% 11 0.8 2.2 -1.0 1.6 0.7 0.1 4.0 0.1 0.6 0.7 0.8 0.3
12 0.0 3.4 -1.0 1.2 1.4 0.2 -13.7 -0.3 0.8 -L.0 0.8 0.8
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4 100.8 100.2 1027 10i.6 103.2 103.6 102.4 93,1 100.8  69.1 100.0 100.9
5 101.2  100.4 102.7 101.6 102.89 10%.7 102.5 99.9 100.8 ©9.9 100.1 10L.1
B 101.1  100.1 102.7 10t.6 103.6 103.5 102.4 99.8 100.8 100.0 99.9 100.9
7 100.9  99.6 102.6 101.6 108.4 100.5 102.7 100.0 100.8 100.3 100.6 101.0
8 | 101.8 102.0 102.6 101.9 103.6 93.1 102.5 101.9 100.8 101.0 100.7 101.2
¥ 9 101.6  101.9 102.7 10L.9 103.8 99.7 102.4 101.0 100.8 ©9.8 100.6 101.0
10 | -101.4 1015 102.7 102.0 104.1 102.1 103.6 100.0 100.8 98,5 100.6 101.0
11 100.6 99,0 102.7 102.0 104,1 102.5 103.2 99,0 100.8  98.3 100.8 100.8
12 100.8 100.0 102.7 101.9 108.2 102.5 103.9 98.9 100.8 98.3 100.7 100.9
E RRIsE Y| 0.9 0.1 -8.3 -0.3 -0.68 5.1 4.6 0.6 0.4  -1.9 0.7  -0.9
*f 16 0.4 1.6 -0.7 -0.5 0.2 1.7 0.8 0.3 0.1 -0.8 1.2 0.2
o 17 -¢.3  -1.0 0.7 0.4 -1.4 0.6 0.8 0.5 0.2 -1.8 0.3 -0.2
P, 18 1.0 0.4 2.3 2.0 3.5 1.8 2.8 -0.3 0.6 -0.8 0.3 0.8
EORR1B4E 18| -0.1 2.8 0.0 1.4 5.1 0.2 . -15.7 0.4 0.0 -1.4 -0.3 -0.8
A 2 -0,4 0.8 0.1 0.0 -0.5 -4.,1 0.0 -0.2 0.0 0.0 0.4 -0.2
3 0.7 0.0 1.8 0.0 0.8 3.4 0.1 0.7 0.0 0.7 0.2 0.9
41 0.2 0.3 0.5 -1.2  -0.5 .4 -0,5 0.2 0.7 0.4 0.1 0.1
£ 5 0.3 0.2 0.0 0.0  -0.3 0.1 0.1 0.8 0.0 0.8 0.1 0.2
A "8 -0,1  -0.3 0.0 0.0 0.7 -0.2 . -0.1 0.1 0.0 0.1 -0.2 -0.2
= 7 -0.2  -0.5 0.1 0.0 -0.2 2.8 0.3 0.2 0.0 0.3 0.7 0.1
8 0.9 2.4 0.0 0.3 0.2  -1.5  -0.2 1.9 0.0 0.7 0.1 0.2
g9 -0.2  -~0.1 0.1 0.0 0.2 0.6 0.1 -0.9 0.0 -1.2  -0.1 -0.2
% 10 6.2 -0.4 0.0 0.1 0.3 2.4 1.2 -1.0 0.0 -1.3 0.0 0.0
11 -0.8 -2.5 0.0 0.0 0.0 0.4 -0.4 -1.0 0.0 -0.2 0.2 0.2

12 0.2 1.0 0.0 -0.1 -0.9 0.0 0.7 -0.1 0.0 0.0 -0.1 0.1 -
| grisdE 18 0.3 -0.9 0.1 3.4 2.0 7.0 5.2 -0.5 0.8 -2.1 -0.5 0.3
B 2 0.2 -1.4 0.2 3.4 1.9 4.9 5.8 -0.8 0.3 -1.4 -0.1 0.3
3 3 0.7 -1.0 2.1 3.4 3.8 4,8 5.9  -0.7 0.3  ~1.2 0.0 1.1
5 4 1.0 -0.7 3.5 2.0 4.2 3.0 4.7  -1.0 0.7 0.9 0.0 1.1
A 5 1.1 -1.0 3.8 2.0 3.7 2.0 5.0 0.3 0.7 -0.3 0.4 1.3
- 6 1.5 0.4 3.6 2.0 3.7 2,2 4.8 0.0 0.7 - 0.2 0.0 1.2
7 0.9 0.0 2.1 2.2 3.3 1.2 5.7 -0.3 0.7 0.4 0.7 0.9
i 8 1.8 2.6 2.3 2.5 2.8 2.1 5.5 0.7 0.7 -0.8 0.5 1.0
% 9 1.4 2.3 2.3 1.5 3.8 -2.2 2.7 0.2 0.7 0.6 0.7 0.8
10 1.1 1.5 2.4 0.9 4.0 -1.3 5.7 0.8 0.7 -1.2 0.6 0.8
% 11 1.0 0.9 2.4 0.6 46 -0.8 2.4 0,2 0.7 0.5 0.8 0.8
12 0.3 2.2 2.4 0.5 4.7  -0.7 -14.8 -0.3 0.7 -l.1 0.7 0.0
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B3R RO (REH)

SERE 1 74E=100
BrETE s EERER &R 2 [ & [ &K & : &
H H 3 2 B &

Bolw | m| o | & . | ¥

x |B T E| & i ol ®
£ A & B B i e - | U = =i b e &

x 4 p|10,000 2,548 2,154 601 354 476 43F 1,302 421 1,137 582  9.606

W RIMFE ] 1010 1000 101.8  99.8 108,0 104.1 96.9 99.8 99.1 104.4 9.7 100.9

15 100.7 100.2 101.7  99.9 102.5 101.1 100.7 100.1 99.5 102.3 9B.8 100.4

16 100.8 101.8 100.9  99.3 100.7 101.3 101.1 99.7 99.7 10L.5 99.4 100.4

17 100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0  100.0 100.0  100.0

18 100.4 101.6  98.7 102.2 100.2 101.0 103.2  99.8 100.6 99.6 100.8 100.1

T ORIB4E 1A | 100.6 102.4 99.6 102.5 101.3  99.8 103.5 99.3 100.1  98.5 99.7  99.9

2 99,9 101.2  99.2 102.9 99.8 95.1 103.3 99.1 100.1 98.4 99.9. 99.5

3 | 100.2 101.1  ©8.2 103.0 100.0 100.3 103.4 99.8 100.1 99.1  99.7 100.0

4 | 100.3 101.3 98.7 101.8 99.1 103.8 102.7 99.3 100.8 99.5 100.2  100.1

5 | 100.8 102.4 98.6 101.7 99.4 102.9 102.5 100.2 100.8 100.3 100.4 100.3

6 | 100.3 10L.7 97.8 101.8 99.5 102.3 103.0 99.6 '100.8 100.4 100.2  99.9

7 | 100.2 100.5 98.1 101.8 99.0 100.4 102.9 100.5 100.8 100.7 101.3 100.1

8 | 100.0 1030 98.1 101.8 100.2 98.8 102.7 101.8 100.8 101.4 10L.0 100.3

9 | 100.8 101.3 98.8 102.1 100.7 100.0 102.5 100.8 100.8 100.2 10L.3 100.2

10 | 100.6 101.8 98.6 102.5 100.9 101.9 103.9 100.1 100.8 98.9 10L.6 100.3

11| 100.1 100.2  98.¢ 102.0 101.2 102.8 103.5 99.1 100.8 ©8.7 10.9 100.3

12 | 100.6 102.1 98.8 102.0 100.8 103.0 103.9 99.0 100.8 98.7 10L.8 100.3

WV ORIsEEs | -0.3 0.2 0.1 0.1 51 -2.9 33 0.3 0.4 21 L2 0.5

%t 16 0.1 1.6 0.7 -0.6 -1.8 0.2 0.4 0.4 0.2 ~0.7 0.6 0.0
i 17 -0.8 -1.8 0.8 07 -0.7 -1.3 -1.1 0.3 0.3 -1.5 0.6 -0.4
o 18 0.4 16 -1,3 2.2 0.2 1.0 3.2 -0.1 0.8 -0.4 0.8 0.1
T ORR184E 18 0.1 34 0.7 1.4 25 -4.2 -14.0 0.4 0.0 1.1 ~0.2  -0.8

A 2 -0.7 -2 0.4 0.4 -1.5 -3.7 -0.2 -0.2 0.0 -0.1 0.2 -0.4
3 0.3 -0.1 -0.3 0.1 0.2 44 0.1 0.8 0.0 0.7 ~0.2 0.5

4 0.1 0.2 -0,2 -1.2 0.9 35 -0.7 -0.6 0.7 0.4 0.5 0.1

E 5 0.5 1.1 -0.1 0.1 0.3 -0 -0.2 1.1 0.0 0.8 0.2 0.2
5 6 -0.5 -0.7 -0.7 0.1 0.1 -0.6 0.5 -0.8 0.0 0.1 -0.2 -0.4
= 7 -0.1 -2 0.2 0.0 -0.5 -1.9 ~0.1 0.9 0.0 0.3 1.1 0.2
8 0.8 2.5 0.0 0.0 1.2 -1.6 -0.2 1.3 0.0 0.7 -0.3 0.2

9 -0.4 -1,7 07 0.3 05 1.2 ~0.2 -1.0 0.0 -1.2 0.8 -0.1

10 0.0 05 -0.2 0.4 0.2 1.9 1.4 -0.7 0.0 -1.3 0.3 0.1

11 -0.5 -16 0.3 =05 0.3 0.9 -0.4 -1.0 0.0 -0.2 0.3 0.0

12 ] 05 1. -0.1 0.0 0.4 0.2 0.4 -~0.1 0.0 0.0 -0.1 0.0

X | i pgg184E 1H| -0.1 0.4 <15 3.3 0.1 1.4 55 0.0 0.3 -1.5 0.1 -0.4
i 2 -0.3 -1.1 -2.0 37 0.6 1.6 52 0.2 0.3 -0.9 0.0 -0.4
i 3 0.4 1.3 -2.2 38 -0.8 3.2 54 0.6 0.3 -0.7 0.1 0.2
A 4 0.2 12 -2.4 2.1 0.2 41 44 -1.6 0.7 -0.5 1.3 0.0
A 5 0.4 1.7 -24 17 -0.7 21 42 0.1 0.7 0.1 0.2 0.1
6 0.8 2.3 -1.0 1.8 -0.5 2.3 49 0.0 0.7 0.7 0.0 0.3

£ 7 0.4 0.8 -1.2 1.8 -16 3.0 4.8 0.2 0.7 0.0 0.4 0.3
A 8 .2 3.8 -1.2 1.8 -1.2 2.0 47 0.8 0.7 -0.2 0.7 0.4
% 9 0.8 2.3 -0.5 2.1 1.3 -1.6 5.1 =01 0.7 -0.2 1.2 0.3
10 .8 30 -0.8 1.7 1.8 -1.8 7.1 -0.6 0.7 -0.8 1.7 0.4

% 11 0.4 1.0 ~05 0.9 25 -2.4 42 -0.2 0.7 -0.2 1.7 0.4
12 0.1 31 0.1 0.9 20 -1.2 -13.7 -0.7 0.7 -0.9 1.8 -0.4
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H3E RAEHI (o)

_ R 1 74E=100
- B T ' T % W X T % | & &
# i i |,
7k ) pi:t i
% H & £ = b /IR = = 2 G d
» = 4 P | 10,000 2,517 2,212 622 456 1,328 307 1,173 581
TORIMEEY | 100.0  99.1 8.7 101.6 98.5 99.7 98.6 104.9 100.1
15 100.1  99.7  €9.4  101.1 9.1 100.2  98.8 102.5 101.5
16 100.2  100.9  98.9  100.7 97.4 99.7  99.0 101.5 101.8
17 100.0  100,0 100.0 100.0 100.0 100.0  100,0  100.0  100.0
N 18 100.8  101.6  100.1 104.3 102.7 99.8 101.0 98.8 100.5
R84 18| 1006 103.1  100.2  10L.5 99.8 99.4 100.4 97.6  99.7
2 | 100.4 102.7 100.1 101.5 96.9 99.4° 100.4 97.6 99.9
3 | 100.3 101.0 100.1 101.8 101.7 99.8 100.4 98.4  99.6
4 | 100.4 101.1 100.3 100.8 104.5 99.3 101.2 98.8  99.8
5 | 100.7 101.2 100.3 101.0 104.5 100.2  101.2  99.7  99.8
8 | 100.6 101.3 100.1 10i.1 103.9 99.9 101.2 99.8 99.8
7 | 100.5 101.0 100.0 101.5 101.0 100.1  101.2  100.1  100.1
8 | 101.6 102.6 100.0 108.8 99.6 101.5  101.2  100.9  100.1
e 9 | 101.3 102.2 100.0 108.6 102.0 100.6 101.2  99.5 100.4
10 | 101.2 101.3 100.0 108.9 105.4 100.1  101.2  98.1 102.2
11 | 100.7 100.4 100.0 108.4 106,2 98.5 101.2  97.8 102.2
12 | 1001.1 101.5 100.5 108.2 107.4 98.3 101.2  97.8 102.2
B ORISEEH | 0.1 0.6 0.7 -0.4 -2.5 5 05 0.2 -2.3 1.4
i 16 0.1 1.2 -0.5 -0.4 1.4 2 -0.5 0.2 . -1.0 0.3
& 17 0.2 -0.9 1.1 -0.7 2.7 7 03 1.0 -1.5 -1.8
& 18 0.8 1.6 0.1 4.3 2.7 6 -0.2 1.0 -1.2 0.5
TORRISEE 1| 0.7 2.2 0.0 0.9 7 5.9 3 -0.4 0.0 -1.6 0.2 -1.3
A 2 -0.2 0.4 0.1 0.0 5 -2.9 500 0.0 0.0 0.2 0.0
3 -0.1  -1.7 0.0 0.1 9 5.0 10 04 0.0 0.8 0.3 0.2
4 0.1 0.1 0.2 -0.8 .1 2.8 8 05 0.8 0.4 0.2 0.0
_a 5 0.3 0.1 0.0 0.2 4 0.0 O 0.8 0.0 0.8 0.2 0.3
5 8 -0.1 0.1 -0.2 0.1 .5 -0.8 1 -0.3 0.0 0.1 0.0 -0.2
e 7 -0.1  -0.3  -0.1 0.4 3 -2.8 A 0.2 0.0 0.3 0.5 0.1
8 1.1 1.8 0.0 7.0 1 1.4 1 1.4 00 0.8 0.0 0.8
9 -0.3 -0.4 0.0 0.0 A4 2.4 d 0 =09 0.0 -1.4 0.3 0.1
% 10 0.1 -0.9 0.0 0.3 1 3.3 3 -0.5 0.0 -1.4 1.8 0.1
11 -0.5 -0.9 0.0 -0.5 2 0.8 A4 -1 0.0 -0.3 0.0 ~0.1
12 0.4 1.1 0.5 -0.2 3 1.1 A4 -0.2 0.0 0.0 0.0 0.2
X | E s 15 1.2 2.5 1.5 2.0 Jd 44, 47 -0.2 17 -2.4 0.5 0.5
i 2 1.4 2.8 1.4 2.1 9 48 50 0.0 1.7 -1.8 0.2 0.7
e 3 0.9 1.1 1.3 2.2 8 57 45 0.0 1.7 -1.6 -0.8 0.7
i 4 0.4 1.3 0.4 0.9 7 7.1 33 -05 0.8 ~1.4 -0.4 -0.1
A 5 0.6 1.5 -0.3 1.0 A4 2.6 3.8 0.3 0.8 0.7 -0.5 0.2
6 0.6 1.9 -0.4 1.1 9 L7 43 0.4 0.8 -0.1 -0.7 -0.1
£ 7 0.5 1.3 -0.4 1.5 A4 07 47 0.0 0.8 -0.5 0.3 0.1
i 8 1.6 3.6 0.4 8.8 7 35 42 03 08 -0.8 0.3 06
& 9 0.9 1.4 0.3 8.8 8 1.7 45 0.1 0.8 0.8 0.7 0.5
10 0.7 07 -0.4 8.3 8 0.2 81 0.7 0.8 -1.4 2.3 0.4
% 11 0.7 0.7 -0.3 7.8 2 0.2 55 -1 0.8 -0.8 2.3 0.7
12 -0.2 0.6 0.3 7.6 1 1.2 -14.8 -1,5 0.8 -1.4 2.3 0.2
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BBk ROMERE HET)

. ER 1 7E=100
. W R T E TR FEEE E T E & B E’i =
- Bolw ol m| om | & 3 P
x |B 7| Rl E | & ) w &
£ A & B B & o\ ) R & = o3 2 15 5
T -  |10,000 2,548 2,154 801 354 476 424 1,302 421 1,137 582 0,606
S ORRIAE | 100.8  99.3 1031 100.4 106.0 99.2 96.8 99.0 99.1 105.2 98.8 101.1
15 100.1  99.8 101.1 100.1 104.7 93.7 100.8 98.3 99.5 102.6 ©99.3 100.2
16 100.4 101.5 100.6 99.6 103.3 95,1 100.4  99.2  99.7 101.7 100.9 100.3
17 1000 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0  100.0
18 100.6 101.1  93.6 102.8 106.8 $9.2 102.9 100.2 100.7 99.1 99.9 100.2
M opR184 15| 100.5 101.9 99,7 103.7 106.1 98.4 103.1 98.7 100.1 98.0 99.9  99.9
2 | 100.1 1010 99.4 103.7 1054 95.3 102.9 ©8.9- 100.1 97.9 100.2  99.7
3 | 100.3 100.9 93.4 103.6 105.9 98.1 102.8 99.6 100.1 98.6 98.7 100.0
4 | 100.3 100.2 995 102.2 106.3 101.4 102.7 99.4 100.8 99.0 98.9 100.1
5 100,9 101.7  92.4 102.4 106.2 101.6 102.5 100.7 100.8 99.9 99.4 100.4
6 100.7 101.0  99.4 102.4 106.4 102.1 102.6 100.3 100.8 99.9 99.2 100.3
7 | 1005 99.7 99.4 102.4 106.6 100.6 102.8 100.7 100.8 100.3 100.3 100.4
8 | 101.5 103.1 99.4 102.6 106.6 98.6 102.8 102.2 100.8 101.0 100.2 100.8
9 | 101.1 102.2 99.4 102.7 107.7 97.3. 102.6 101.6 100.9 99.7 100.8 100.4
10 100.8 101.3 9.4 103.0 107.8 98.6 103.4 100.9 100.9 98.5 100.4 100.3
11 100.2  99.6  93.9 102.7 108.3  98.5 102.8 100.0 100.9 98.2 100.4 100.2
12 100.7 100.8 100.4 102.7 107.39  99.8 103.6 99.8 100.9 98.2 100.2 100.5
ToKIBEER | 0.7 0.5 ~1.9 -0.3 -1.3 5.5 4.1 0.3 0.4 -2.5 0.7 -0.9
#t 16 0.3 1.7 -5 -0.5 -1.3 1.5 =-0.4 0.1 0.2 0.8 1.6 0.1
3 17 -0.4 -1.5 -0.6 0.4 -3.2 52 -0.4 0.8 0.3 -1.7 -0.9 -0.8
" 18 0.8 1.1 0.4 2.8 68 -0.8 29 0.2 0.7 -0.8 -0.1 0.2
W oKI84E 1A 0.5 25 0.3 1.4 80 -8.0 -14.9 -0.2 0.0 -1.3 -0.9 ~-1.3
)i 2 -0.4 0.9 -0.3 0.0 0.7 -3.2 -0.2 0.2 0.0 -0.1 0.3 -0.2
3 0.2 0.1 0.0 0.1 0.5 2.9 -0.1 0.7 0.0 0.7 -1.5 0.3
4 0.0 -07 0.1 ~1.4 0.4 34 -0.1 -0.2 0.7 0.4 0.2 0.1
£ 5 0.6 1.5 -0.1 0.2 0.1 0.2 -0.2 1.3 0.0 0.9 0.5 0.3
H B -0,2  -0.7 0.0 0.0 0.2 0.5 0.1~ =0.4 0.0 0.0  -0.2  -0.1
7= 7 -0.2  -1.3 0.0 0.0 0.2 -1.5 0.2 0.4 0.0 0.4 1.1 0.1
8 1.0 3.4 0.0 0.2 0.0 -2.0 0.0 1.5 0.0 0.7 -0.1 0.2
g 0.4 -0.9 0.0 0.1 .00 -1.3  -0.2 -0.6 0.1 -1.3 0.4 0.2
% 10 0.3 -0.9 0.0 0.3 0.1 1.3 0.8 -0.7 0.0 -1.2 -0.2 -0.1
11 -0.6 -17 05 -0.3. 05 -0.1 -0.6 -0.9 0.0 -0.3 0.0 -0.1
12 0.5 .3 0.5 0.0 -0.4 1.3 0.8 -0.2 0.0 0.0  -0.2 0.3
# | pR184E 18 0.8 1.2 0.1 4.7 46 56 4.9 -1.0 0.3 -2.1 0.3 0.5
B 2 1.0 1.0 0.4 4.7 4.4 4.2 45 0.2 0.3 -1.5 0.0 0.7
i 3 0.9 0.9 0.8 4.8 5.0 2.3 4.4 0.1 6.3 -1.8 ~1.5 0.9
- 1 0.3 0.7 -0.4 2.7 7.2 2.3 38 =0,4 0.7 -1.I -0.89 0.2
H 5 0.6 1.0 -1.0 2.7 6.0 1.2 4.1 0.0 0.7 0.4 0.5 0.2
& 8 0.8 1.6 -1.1 2.8 6.5 1.8 4.2 0.2 0.7 0.1 -0.6 0.3
7 0.7 0.4 -1.1 2.9 7.1 3.3 44 0.3 07 -0.4 05 0.4
5 8 1.5 3.6 .-1.1 2.9 6.4 24 44 1.3 07 0.6 0.3 0.5
% 9 1.6 2.4 -1.1 28 7.2 -3.0 6.4 0.7 0.8 0.6 0.9 0.2
10 0.3 1.3 -1,1 2.3 7.7 -85 7.2 0.1 0.8 -L.1 1.3 0.2
% 11 0.0 -0.5 -0.1 6.5 9.3 -84 52 0.8 0.8 -0.5 -0.3 0.1
12 -0.3 1.5 0.4 0.4 9.9 7.7 -14.5 0.9 0.8 -1.1 -0.6 0.7
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B3R KOEIEE (EEHA)

5 g % BT 3% W T % | B | 5
§3@ .
S E HR ] % "
x |BH T R & | "
£ A & )= i LSRR ] 1= =i # .
% T 4 h [10,000- 1,865 706 375 399 1,674 201 1,160 580
FORRIAE R HY | 101.0 102.3 98,6 111.0 104.7 .98.9 99,3 104.1  98.6
15 100.3 101.8 98,8 103.6  98.8 99.0  ©9.5 102.1 100.1
16 100.2 100.8 99,0 102.1 100.2 98.8  $9.7 -101.7 100.5
17 100.0 100.0  100,0  100.0  100.0 100.0  100.0 100.0 100.0
" 18 100.0 99.4 104.0 95.7 99.2 99.9 100.8 98.7 101.2
M ORRIS& 18| 100.2 100.0 104.1 97,5  97.8 99.4 100.1  97.8 100.B
2 99.9 100.1 104.2 96,7 95.2 89.4 100.1 97.9 100.7
3 100.0 99.8 104.2 98.8  98.3 99.7 100.1  98.4 100.8
4 99.9 99.8 102.9  86.1 100.1 99.3 101.0  98.7 100.9
5 100.2 99.5 103.3 95.2 100.8 100.0  101.0  99.7 100.8
B 100.0 99.2 103.3  95.4 100.8 99.5 101.0 89.5 100.6
7 99.6 98.9 103.5 94.5 97.3 .99.8  101.0  99.6 101.6
8 100.3 98.8 104,6 93.9 5.9 101,06 101.0 100.1 101.8
w0 9 100.1 98.9 104,6 95.4 100.3 100.6  101.0  89.1 101.9
10 100.1 98.9 104.6 95.1 101.3 100.8  101.0  87.7 101.8
11 99.6 99.3 104,1  96.2 101.8 99.8 101.0 97.7 101.8
12 99.7 93.3 104.1 95.5 100.8 99,5 101.0 97.6 101.7
T ORIME R | 0.7 8  -0.5 0,2 -6.7 5.8 0.1 0.2  -1.8 1.5
st 16 -0.1 2 -1.0 0.2 -1.4 1.4 -0.1 0.2 0.4 0.4
B 17 -0.2 7 0.8 1.0 2.1 -0.,2 1.1 0.3 -1.7 -0.5
o 18 0.0 A4 0.8 4,0 -4.3 0.8 -0.1 0.8 -L.3 1.2
I ORIS4E 1H 0.4 .1 0.0 1.2 -0.2 5.9 -0.1 0.0 -1.4 -1.1 -0.2
B 2 -0.3 .9 0.1 0.1  ~0.8 -2.7 . 0.0 0.0 0.1 0.1  -0.1
3 0.1 1 -0.3 0.0 0.1 3.3 .2 0.3 0.0 0.5 0.1 0.3
4 -0.1 .6 0.0 -1.2  -0.7 1.8 7 0.4 0.9 0.3 0.3 -0.2
£ 5 0.3 8 -0.3 0.4 0.8 0.7 2 07 0.0 1.0 -0.1 0.3
L= 6 ~0,2 000 0.3 0.0 0.2 0.0 1 -0.5 0.0  -0.2 -0.2  -0.3
e 7 ~0.4 .3 0.3 0.2 -0.8 -3.5 .5 0.3 0.0 0.1 1.0 -0.2
8 0.7 8 -1 1.1  -0.8 -1.4 0.1 1.2 0.0 0.5 0.0 0.3
9 -0.2 .3 0.1 0.0 1.6 4.6 0.2 -0,4 0.0 -1.0 0.3 0.1
% 10 0.0 .5 0.0 0.0 -0.3 1.0 1.0 -0.3 0.0 -1.4 -0.1 0.1
11 -0.5 .8 0.4 -0.5 1.2 0.5 -0.3 -0.5 0.0 0.0 0.0 0.0
12 0.1 .9 0.0 0.0 -0.7 -2 0.4 -0.3 0.0 -0.1 -0.1 0.0
* | R8E 15 0.1 .8 0.5 5.3 -3.8 0,7 0.5 0.2 0.3 -2.7 1.0 -0.1
B 2 0.2 1 =01 5.3 4.4 3.0 0.2 0.4 0.3 -2.0 1.2 0.1
e 3 0.1 1 -0.3 5.3  -4.5 1.7 0.3 0.5 0.3 -1.8 1.4 0.2
H & -0.5 8 0.4 2.9 5.2  -0.7 -0.4 -0.9 0.9 -1.8 2.2 0.8
A 5 -0.3 A 0.5 3.3 5.9 -1.5 -0.4 0.8 0.9 -0.8 1.9  -0.4
b 6 -0.2 10 0.9 3.8 -5.5 -1.2 0.2 0.4 0.8  -0.4 1.7 0.4
7 -0.3 4 -1.0 3.8 46 -0.4 -0,7 -0.8 0.9 -0.8 1.7 0.4
il 8 0.4 2 -0 4,7 5.2 -1.2 9.5 0.2 6.9 -0.9 1.7 -0.2
s g 0.1 B 0.8 45 -4.2 2.1 -0.4 -0.3 0.9  -0.7 2.1 -0.2
10 0.2 7 0.8 3.9 -3.7 2.3 1.0 0.5 0.9 -1.6 -0.1 -0.4
% 11 -0.2 A 0.7 3.2 -2.3  -L.9 0.4 0.3 0.9 ~1,0 -0.1 -0.2
12 -0.1 20 =07 1.9 -2.3 -3.2 1.1 0.0 0.9 -1.8 0.0 -0.1

._3 U_



